26. Find the area inside one petal of the rose r = 2sin(2#) outside the circle r = 1. Sketch the

region of integration. . :
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12. Evaluate the line integral [, z%zds if C is given by © = 2sint, y=1t, z =2cost, 0 <t < /2,
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13. Evaluate [, ydz + zdy + zdz if C consists of the line segments from (0,0,0) to (1,1,2) and from
(1,1,2) to (3,1,4).
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14. Evaluate [, ' di where F(z,y) = z?y7+ eVj and C is given by (t) = t*7— £37, 0 <t < 1.
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15. Show that F(z, y) = (2 +y* + 32°y)7T+ (2zy + 2° + 3y%)7 is conservative vector field. Use this
fact to evalua tfc,f“d if € is the arc of the curve y = zsin fm(OO) o (m,0).
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16. Show that F(z,y,2) = yz(2z +y)i+ 2z + 2 w)7+ ay(x + y)k is conservative vector field. Use

this fact to walua.te JoFec 11 if Cis g:ven by #(t) = (1-- )T+ (1 + 2627+ (1 4 39)F, (Zit-ﬁll s
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17. Use Green's Theorem to evaluate [,a?ydz — zy’dy where C is the circle @ + y* = 4 with
counterclockwise orientation,
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r~ B I

L4 -
18. Find curl F an ddvf‘tf‘ﬁt x%z t+23:s y7+ 2z cosyk.
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41. Find an equation of the tangent plane to the surface given by parametric equations r = u?,

¥y =u—v? z =v? at the point (1,0,1).
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42. Find the area of the hyperbolic paraboloid z = 22 —y? that lies between the cylinders 22 +3% = 1
and 22+ = 4.
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43. Find the area of the surface with parametric equations = wv, y = u+v, 7 = u—v, ¥ +0° < L.
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44. Find the mass of a thin funnel in the shape of a cone z = /22 + %2, 1 < z < 4 if its density
funetion is p(z,y,z) = 10 — z.
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45. Evaluate [[cyzdS if S is the part of the plane z = y+3 that lies inside the cylinder 2*+3* = 1.
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46. Let T be the solid bounded by the paraboloids

=z*+2% andz = 12 — 22° — .

Y 7 Let F =< ,y,z >. Find the outward flux of F across the boundary surface of T'.
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Or vaerg%tif Theorem!
ffuwzﬁﬂﬁ div FdV

0&'VE I ) Df
Cgﬁna@f&caﬁ COOrd.
2=1co) O iy’ B¥ ALY ”
\ A
=r4im © a-rreE2 T‘F;A‘ + ram
2= Oéru:g)

OS2I

Title : Apr 27-11:04 AM (Page 16 of 20)




47. Verify the Divergence Theorem for F =< 22, zy, 2 > and the region £ bounded by the coordi-
nate planes and the plane 2z 4 3y + 4z = 12.
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T RHS:
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48. Use Stokes Theorem to evaluate f( F.ditif F =<2z 2,3y > and C is the ellipse in which the
plane z = eets T} cylinder x* + ¢y? = 4, oriented mummr]mkm se as viewed from above
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